MODEL QUESTION

SET -1 Intermejldiate (XII)
Accountancy |
(Class XIIth |
Time — 3 Hrs. Full Marisv - 80
Pass Mark 26

ALL QUESTIONS ARE COMPULSORY b+ y3 aifarf 2 |
Candidates are required to give their answers in their own words s for as practicabl

werreff gumiva U wreet § & 9aw @ | |
Figures in the margin indicate full marks. S9Td & & quife fifds [oxd &)

GENERAL INSTRUCTIONS : |9THI=Y fordsr
(i) This question paper contains two parts A and B
T8 T TA 1 AT 7 AR 9 H fawfon 2| |
(if) All parts of question should be attempted at one place. |
SHT T 31 Td g Wl s @ fiw s 2 |
(iif) All Parts of question should be attempted at one place. |
fopell o 9T @1 el SR v ) v T ¥ |

Part - A
1. R amRe sl ¥ et w oRerRR @ o 7 ae 01
The excess of assets over Liabilities in non-trading concerns is termed a
(i) Capital fund (i) Capital T
(iii) Profit (iv)  None of these ?
2. 1] @Al 8| Current Account is - | 01
() T @IT (Personal Account) |
(i)  arfde @I (Real Account)
(i) AT @I (Nominal Account) ‘
(iv) & 9 3 T (None of these)
3. X3RY 23 T AT H W qied | 9w § RN W e § am e qu a0
¥ B WEER fel S & T | |

X and Y share profits in the ratio of 2:3. In future they decide to share profits in equal
ratio which partner will sacrifice in which ratio. |

(i) X &RT JIT 1/10 (X sacrifice 1/10)
(i)  XERT @ 1/5 (X sacrifice 1/5)
i) Y @R QW 1/10 (Y sacrifice 1/10)
(iv) Y ERI QT 1/5 (Y sacrifice 1/5) j
4. 3™ 2 Super profit stands : | 01
(i) 3T AT A (Average profit-Normal profit) |
(i) B A/ TE B HEAT (Total profit/No. of year) |
(i)  WIRd oY/ IRI @I G&=T (Weighted Profit/ No. of weight) |
(iv) SwE H ¥ B TE (Non of the above) |
5 Al v, 2013 B! O U1 & W & ST B 98 W S gy PR A 01
R AqH 2 | |

A company cannot issue its shares at discount under which of the foIIO\jwing section
of the companies Act. 2015. }

i 78 (i) 52
(i) 53 (iv) 66

6. FRUUF &1 Ui 8- Consideration of debenture is - | 01
(i) ™ (Profit) (iy ™I (Dibident) ‘
(iy &N (Interest) (iv) @& (Expenditure) | ¢

4



10.

11.

(T Y 7 § MY T AGT BT AGER B YR e
9 DY K0 50,000 F= B RAFIRT 0 40,000

9 &g %0 1,00,000 I D IRH ¥ B T WG TE B0 10,000, ﬁaﬁaﬂfaﬁ%ﬁrﬁo

30,000 / —

Show how you deal with the following items in the case of Union Youth d:lub:

Match fund Rs. 50,000, Match fund Investment Rs. 40,0000
Match expenses Rs. 1,00,000 Donation of Match fund
Received during the year Rs. 10,000, sale of match

Tickets Rs. 30,000.

A foio @ IT %0 80,000/~ @ &fdipd Tuft & S W0 10 aTel 8000 /— 3417ﬁ‘

P fonifor 2

SR R 5000 QoI 3% A B RS Y Ltd., aﬁmuﬁwa%mﬁawz‘oomfphﬁ

yadel o AT e T | s Frfee @ w0 6000 R | S @) wRaRedt

A Ltd. has an authorized capital of Rs. 80,000 divided into 8000 sha
each. It issued 5000 shares as fully paid to vendor Y Ltd. as purchase q
of building and 2000 shares were issued as fully paid to promoters. \
expenses amounted to Rs. 6000. ‘
Give Journal entries.

H1gq o0 7 W0 100 @rel 400, 1ommm6ogsaﬁﬂﬁsﬁawmwm$
7f:

fore 7 f6d | 9 ¥ Y TeTel BT 0 500 BT I febaT | S @bl
P |

Mohan Ltd. purchased its own 400, 10% Debentures of Rs. 100 each |

e of Rs. 10
onsideration
Share issue

Ifteai

at Rs. 95 for

immediate cancellation. At the time of purchase Rs. 500 paid as bro‘lerage. Give

necessary journal entries.

< Iofl v YoiTa Fo § @7 iR 27
What is the difference between Reserve capital and Capital Reserve? i
AWB@Stﬁﬁﬁmﬁm%Twszfﬁaquﬁw—aﬁmélwﬁr
G B A B B Al H 1/4 M B AU ge Ran) R oo G @ w5 A

T I R &1 1T TS A B B @A b1 qedied v aR aut @
<IN B I B FHR W a1 | B4 B Rwe IR a8t 31 aW B ToR

™ (%0)
201314 3,50,000
201415 4,75,000
2015—16 6,70,000 |
2016—17 7,45,000
ftferied srftRad gm § 18 _—

R & WEER

6,00,000 / —
AT A B
e

(i) TR el & Iy W0 56,250 /— VUE oId @ i wR A o afefa

fohar ST 2| |
(ii) 31 AT, 2017 BT TAG §Y I BT Hfp Wi HO 15000 /— R i

MBI

RGN w31 W FU ¥ ST Y R & 90U W e e gitedt @R |

A and B are partners in a firm sharing profits and losses in the ratio

admit ‘R” as a Partner of 1/4"™ share in the Profits of the firm. ‘R

6,00,000/- as his Capital and his share of goodwill in cash. Goodwill of

be valued at two years purchase of average profits of the last four years
The profit of last four years are given below :

(Profit)
2013—14 3,50,000
2014—15 4,735,000

s, 7] N
2015—16 6,70,000 ’ / G‘ZD
|

2016—17 7,45,000

pf 3:2. They
brings Rs.
he firmis to
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The following additiocnal information is given : |
(i) To cover management cost an annual charge of Rs. 56,250 sho
for the purpose of valuation of goodwill.

(‘ii) The closing stock for the year ended 31.03.17 was overvalued by|Rs. 15000.
pte clea

Pass necessary Journal entries on ‘R’ admission showing the working n¢

uld be r

made

rly.

Y, REF TT WIS U6 BH A AR 9, Re {mt s %0 80000, %0 40,000 TET %0

40,000 9T | TS FTe WA & AT IH HO 10,000, TEH O 5000, T TS %50 |

RN fae @ SR WEER IRE 10% B ® ¥ G W @ a3

STol, ST BRIRT WEIRR T, Ufa¥ w0 12000 A W TN @1 ARER oA | ol

f=ER 8T o |

(37) UM %0 20,000 ST Yfordl & oYU H

(3) 3FTeT 0 30,000 532 B U H|

(&) 99 o™ BT IO SRTER ST |
Sda foodll ft 73 @ forg wR o @ g wH A @ § w0 17

HHMT | AT TR @ TR g | |

Rarn, Rahim and Geogre were partners in a firm having capitals of sti

2000 (D
5 B o |
KEIRCLINE

r) |

p,000 D[ oM

80,000, Rs.

80,000 and Rs. 40,000 respectively. Their current account balances wére Ram Rs.

10,000 Rahim Rs. 5000 and George Rs. 2000 (Dr.). According to the
deed the partners were entiled to interest on capital @ 10% p.a. Geor

divided as follows.
(a) The first Rs. 20,000 in proportion to their capitals
(b) Next Rs. 30,000 in the ratio of 5:3:2
(c) Remaining profits to be shared equally.

The firm made a profit of Rs. 1,72,000 before charging any of the ﬂ‘bove it

Prepare profit &. loss Appropriation Account.

fereaferad faavorl @ smR W Wity vd YT arar 3T Ud @ @ daR R

From the following details, prepare Inccme & Expenditure Account.

YRf¥& ¥Y (Opening Balances)
G (Cash) ‘
§F (Bank)

" {99 (Building)

Ix®  (Books)
&1 g1 (Outstanding subscription)

31T dad (outstanding Sataries)
o) (Furniture)

T & RM [ RS (Transactions during the year)
WHTeR @I {3l (Sale of Fumiture) %@ 44 (Book Value)
< UI g3 (Donations Received)
I Uil §31 (Subscriptions Received)
MRl Yed (Life Membership Fees)
NHIY g (General Expenses)
fMm T (Rent Paid)
fdSiell  (Electricity)
a1 (Salaries)
faf T (Investments)
fAfRIT W @It (Interast on investment)

3o 99 (Closing Balances) (31.12.2015)
B (Cash)

4% (Bank)

3eT 909 (outstanding Sataries) 1
ghrT g1 (Outstanding subscription) 3
fafyarr w sufsfa (Accrued interest on investment)

999 W 5 gfavd s fewrsy (Show 5% Depreciation on Building) ‘7

partne
pe bein
working partner was also entitled to a salary of Rs. 12000 p.a. The Profits were

rship
g the
to be

ems.
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(a7)

@)

xvawzwwﬁﬁa@m%aﬁam_ﬁmsmﬁm%ﬂm%
Id R faavor = yeR o1

YR, 2017 B 06

X, Y and Z were Partners in a firm sharing Profits in the ratio 3:2:1. ‘The balance
sheet as on 31 December, 2017 was as follows :
Liability Amount Assets | Amount
(Rs) (Rs)
SR (Creditors) 8,000 a9 (Building) | 20,000
HdY (Reserves) 9,000 @UE UG 7 | 18,000
(Plant & Machinery) |
ISl @M Capital Accounts TH (Stock) | - 5,000
X 20,000 3SR (Debtors) | 8,000
gt 10,000 :
Z : 6,000 36,000 §% H JUPS (Cash at bank) 2,000
53,000 53,000

31032018aﬁxa%ﬂﬁélmﬁmﬁawwma
feeferiad ure @R a1 JBR & —

(X died on 31 March, 2018 According to partnership deed the executorq
partner were entiled to)

fysreE @

\JY

of deceased

a) ¥ 3R D ‘1‘vﬁ T BT Iy (Amount standing to the credit of decedsed partners

capital account)
b) %Trﬁ R 10 YR arfie & (Interest on Capital 10% p.a.) s
c) fisel O af & divd oW & <1 avf @ FT B R W FuiRa @

Share of Goodwill on the basis of two year's purch of last
average profit.

iy o few |

three years

fewar, forgan

ﬁ@ﬁﬁ?ﬁaamﬁwﬁﬁﬁ?ﬁmaﬂﬂfﬁﬁqwmﬁ

the last financial year to the death on the basis of last year’s pro
X (s o Jqd &R & forg X &1 ol @rar g feee @ a1y |

Prepare X’s Capital A/C to be rendered to his executors and Executor’s

T f0Bel a¥ & A @ MR W @ ST | Share of profit from'Fe closing of

‘account

ﬁﬂmﬁaﬁwqﬁ$wzﬁmmﬁamﬁmlmww-ﬁram1{m

%0 100 2| |
(i) TP FU—U3 W0 95 W AT g qM 0 105 W e fohar wre ||
(i) TP FOUF w0 100 W FRIAT g3 T w0 105 TR e o SQm ||
(i) T 0T %0 100 TR A g3 dem o 110 TR W fobar smqm |

Journalise the transactions for issue of debentures as given below. The‘
debentures in each case is Rs. 100.
(i) A debenture issued at Rs. 95, repayable at Rs. 105
(i) A debenture issued at Rs. 100, repayable at Rs. 105
(iii) A debenture issued at Rs. 105, repayable at Rs. 110

face value of

Qﬂﬁzﬁmﬁ‘[ﬁwwﬁm2ooooow%msﬁ?éma%wm602soooowwww

SRl & w4 v | Raeri b § e freat § frd TR Rer T |

A company took a loan of Rs. 200000 from a Bank and placed with the Bank,

debentures for Rs. 250000 as collateral security. Show how they will
company’s Balance-Sheet.

¥/o)

dppear in the

1
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f=feried o

A, B and C were partners sharing profits in the ration 5:3:2 respe¢:t|vely Their

summarized Balance — Sheet was as follows.

Liability Amount Assets | Amount
(Rs) (Rs)

ISl @I Capital Accounts =1 (Goodwill) | 80,000

w9 (Machinery) | 3,60,000

A :2,80,000 IER (Debtors) | 1,40,000

B :2,00,000 ’ WId (Stock) | 1,80,000

C :1,20,000 6,00,000 D (Cash) 24,000
eI [RiS]1Y 1,84,000

(Current liabilities)
7,84,000 | 7,84,000

C H 01.04.2017 I FAHTT T=VT 57| T€ TeARI 8 fob
(C retired on 01-04-2017. | # was agreed that)

a) #YH Pl 480000 W Heifeh AT WIF (Machinery be valued at Rs. 480000

b)w%?ﬂamﬁﬁa%gﬂﬁwmﬂwvﬁawﬁﬁs—mﬁﬁ

GICCE I

TTard ¢ @I fad 0 188000 qegifed fobar T (C's interest in the ﬂrm is valued

at Rs. 188000after taking into consideration revaluation of assé
and accumulated Profits/Losses etc.)

3ts Liablilities

c) C @l ¥ WA & N A T B §RT 39 YHR ol W1 o b ) Gofl 570

T AT IJUId 21 § & W|  The entire sum payable

brought in by A and B in such a way that their capital should ba
profit sharing ration of 2:1

C is to be

in their new

d) B4 ¥ AH 9 b ®Y H W0 17000 TE IV @A £ | Acashb#anceofRs

17000 should be kept in the firm as minimum balance)

T T, WRRRT @ T W o 7 o o Foee] AAR ARl

Prepare Revaluation Account, Partner’'s Capital A/C and Balance sheet of new firm.

X felo 9 %0 10 AT & 50,000 3 BT w0 2 WWWWWW
IS |
0 3 HMAET W, W0 € imed W (ifrem ufed) |
0 3 I W |
7soooa¥ﬁ$maﬁaﬂwgqawmmmwwﬁmw
|

GIRESISUIN

3frae | foa

4ooooaﬁzﬁaﬂéaaﬁaﬁsoooomﬁﬁﬁaﬁﬁénﬁaw@naﬁznoooasﬁwfm

favam e | e o 1200 S @ forg AR (40,000 SN el YU H) fba
AT IR BT T T b, 3 Bigar a4l e RIRRT JUrH urE @)

3rded g

| 3@ Tl

R BT W AR foram w1 T R gy o B wo 8 URY W B w Ayl wew T

ferfe @R feam | |
SWE ool @ forg snawasd e gfafed! SR |

X Ltd. issued 50,000 shares of Rs. 10 each at a premium of Rs. 2 per sHare payable

as follows : |

Rs. 3 on Application, Rs. 6 on allotment {including premium) Rs. 3 on call
Applications were received for 75,000 shares and a Pro-rata allotment
follows.

S.
as made as

To the applicants of 40,000 shares, 30,000 shares were issued and|for the rest
20,000 shares were issued. All money due were received except the allotment and
call money from Sohan who had applied for 1200 shares (out of the grolip of 40,000

r>1m
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per share fully paid-up.
Pass necessary Journal Entries for the above transactions.

Part-B
A6 JeadH &1 qa o 37
What is meant by Cash equivalents?
YIS 1Y e JaTe fehaTdhelly A Tl &?
When is dividend received considered as operating activity?

IS JTe U 78.34 U 81 T YalTer o SFUIG @ B
What will be the operating profit ratio, if operating ratio is 78.34%?

A A, 2013 BN BT W AT T B @ G Ry R ®gen) @

fAeiRa o) 2 ?

Which part and which schedule of companies Act. 2013 Prescrlbes
Balance-Sheet ? ‘

fraforad @ & Fosiofelo @1 T AR Rerfd fiaver Far Al -

shares). All this shares were forfeited. The forfeited shares were re- |ssu|ed for

Rs. 8

01

01

ey 06

the form of

Prepare a common size Balance-Sheet of K.J. Ltd. from the following inxrmation.

08

Particulars Note  31.03.2017 31.03.2011
No.
. AT U4 <Ia (Equity and Liabilities)
1. 3RS AT (Share holders fund) 8,00,000  #,00,00C
2. 3 YA (Non Current Liabilities) 5,00,000  ,00,00¢
3. 9I¢] <IAN (Current Liabilities) 3,00,000  P,00,00¢
%l (Total) 16,00,000  B,00,000
Il. IRNEHRIT (Assets)
1. 3 URAAIRIAT (Non-current Assets) 10,00,000  5,00,000
2. de} UREHFRIET (Current Assets) 6,00,000  B,00,000
% (Total) 16,00,000  §,00,000

uRaer ¥ 3 Al B AN W0 200,000/~ U HA U 8, AN
3 graved | 1.5 oM ARF 2| YRS 3aved 1d st vl @) o

Cost of Revenue from Operation Rs. 2,00,000. Inventory turnover Rs

opening inventory and closing inventory.

ffeied a & e Hw & dTe] U @) U SR
F7IUCR Tl U 4 oM

3fcr gued), YRS vt F W0 20,000 TTET o7 |
URETeT ¥ 3T 0 3,00,000

Aol o™ U 25 fererd

TTe], SIATY 0 40,000

TRl 3 0.75 ¢ }

Calculate current Ratio of a company from the following information.

[T |

Inventory turnover ratio : 4 times

Inventory in the end was Rs. 20,000 more than the ,01 ( é

The inventory in the beginning
Revenue from operation Rs. 300000
Gross Profit Ration 25%

Current Liabilities Rs. 40,000

Quick Ratio 0.75 : 1

R gquey], 3

tio 8 times.

Inventory in the beginning is 1.5 times more than the inventory at the en-d Calculate




24  FRGS folo o FHfReT 78T 1 a6l TR @ 418 B0 2,00,000 BT A At |fopar |
Jharkhand Ltd. earned a profit of Rs. 2,00,000 after charging the followir

W FRAT W 8 (Depreciation of Fixed Assets)

JBI AT BT 3YeRRg (Amortisation of Development expenses)

FHR @ i w® g+ (Loss on sale of Furniture)

Hfee 0 & fofy MG (Provision for Doubtful Debts)
TR B folg IS (Provision for Taxation)

AH= Gy ¥ AT (Transfer to General Reserve)
=i o 9 ® o™ (Profit on sale of Machinery)
3RS Ay (Additional Information)

U< fde (Bills Receivable)
<7 a0 (Bills Payable)
3iqxd I Ols Expenses)

¢TER (Debtors)
éﬂa X (Creditors)

Jdad @Y (Prapaid expenses)

SIS el | e O &1 JEr axd gy Aae At § e fag B

BIFTY |

From the above Info‘rfnation, You are required to calculate Cash flow fr

activities by using Indirect Method.

2017
0
5000
4000
2500
6000
5000
100

31 March

Sz

Rs.
3500
3000

250

550

30000
3500
1500

2018
| 0
4250
3000
2000
7500
7500
150

DM oper

g items :

rating

e




